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Criteris de correcció Tecnologia Industrial 

SÈRIE 1 

 

Primera part 

Exercici 1  

Q1  a Q2  c Q3  c Q4  d Q5  b 

 

Exercici 2 

a)  

d m i p 

0 0 0 0 

0 0 1 1 

0 1 0 0 

0 1 1 1 

1 0 0 0 

1 0 1 1 

1 1 0 1 

1 1 1 1 

b) 𝑝 = (𝑑 + 𝑚 + 𝑖)(𝑑 + 𝑚̅ + 𝑖)(𝑑̅ + 𝑚 + 𝑖)  

o també 𝑝 = (𝑑̅ · 𝑚̅ · 𝑖) + (𝑑̅ · 𝑚 · 𝑖) +
(𝑑 · 𝑚̅ · 𝑖) + (𝑑 · 𝑚 · 𝑖)̅ + (𝑑 · 𝑚 · 𝑖) 

𝑝 = 𝑑 · 𝑚 + 𝑖 

c) 

 

 

 

Segona part 

OPCIÓ A 

Exercici 3  

a) 𝑃vent =
1

2
𝐴 ·  · 𝑣3 = 955,2 kW 

b) 𝑃útil = 𝑃vent · 𝑐a · 
aerog

= 272,8 kW 

c) 𝐸total = 𝑃útil · 𝑡 · 𝑛 = 73,66 · 109Wh = 265,2 · 1012 J  

d) Ingressos = 𝑝venda · 𝐸total = 5616 k€ 

e) Reducció = (1 − 0.93) · 100 = 27,1% 
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Criteris de correcció Tecnologia Industrial 

Exercici 4 

a)  motor=
Psubm


=2,876 Nm  

b)  𝑣pat= · 𝑑roda/2 = 5,563 m/s = 20,03 km/h   

c)  𝐸útil = 𝐸bat · 
mot

=222,5 Wh = 801,0 kJ 

d) 𝑡màx = 
𝐸útil

Psubm
= 4005 s = 1,113 h;       𝑠màx= 𝑣pat·𝑡màx = 22,28 km  

 

 

OPCIÓ B 

Exercici 3  

 

a)  ∑ Fverticals = 0   →   TC + TD  = mg  

∑ M(G) = 0   →   TC · 𝑑 − TD · 𝑑 = 0   →  

TC = TD =
𝑚𝑔

2
= 58,84 N 

 

b) 

 

c)  𝜑 = atan (
1

3
) = 18,43° 

d)   ∑ M(O) = 0;   −TAB sin 𝜑 · 3𝐿 + TC · 2𝐿 + TD · 𝐿 = 0         →    TAB = 186,1 N      

e)  ∑ Fhoritzontals = 0   →   FH = TAB·cos 𝜑                        →   FH = 176,5 N   

       ∑ Fverticals = 0       →   TABsin 𝜑 + FV = TC + TD      →   FV =  58,84 N  
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Criteris de correcció Tecnologia Industrial 

Exercici 4 

a)  Pútil = 
Eútil 

𝑡
= 

𝑚 · 𝑐e · 𝑇

𝑡
=


aigua
· 𝑉 · 𝑐e· · 𝑇

𝑡
=

aigua
· 𝑞aigua · 𝑐e · 𝑇 

𝑞aigua =
Pútil


aigua

· 𝑐e· · 𝑇
= 16,08 L/min 

b)  Pcons = 
Pútil

ηc
= 32,18 kW;    qcomb =

Pcons

pc
= 0,5191 g/s 

c)  t   = 
𝑉

𝑞aigua
 =6,22 min;       𝑚 = 𝑡 · 𝑞comb = 193,7 g  
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Criteris de correcció Tecnologia Industrial 

SÈRIE 4 
 

Primera part 

Exercici 1  

Q1  b Q2  d Q3  a Q4  d Q5  c 

 

Exercici 2 

a)  

r v f c 

0 0 0 1 

0 0 1 1 

0 1 0 1 

0 1 1 1 

1 0 0 0 

1 0 1 1 

1 1 0 1 

1 1 1 1 

b)   c =  r ̅+ v + f  =  r ∙ v̅ ∙ f ̅̅̅ ̅̅ ̅̅ ̅̅ ̅ 

c)  
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Criteris de correcció Tecnologia Industrial 

Segona part 

 

OPCIÓ A 

 

Exercici 3 

a)  R = 
3 Upila – ULED

ILED

 = 110 Ω 

b)  Ptotal = 3 Upila · 5 ILED = 0,225 W   ⇒   Etotal = Ptotal · t = 4050 J = 1,125 Wh 

c)  tpiles = 
cpila

5 ILED

 = 22 h 

d)   ILED,2 = 
3 Upila – ULED,2

R
 = 22,73 mA 

e)  Ptotal,2 = 3 Upila · 5 ILED,2 = 0,5114 W   ⇒   Etotal,2 = Ptotal,2 · tencesa = Ptotal,2 · 
2

3
t = 6136 J = 1,705 Wh 

 

 

Exercici 4 

a)  ηgen = 
Pelèctr

P2

   ⟹   P2 = 
Pelèctr

ηgen

 = 1149 kW 

      𝛤2 = 
P2

𝜔2

 = 
P2

n2  ·  (2π / 60)
 = 7,317 kNm 

b)  ηmult = 
P2

P1

 = 
𝛤2 𝜔2

𝛤1 𝜔1

 = 0,7840;    𝜏 =  
𝜔2

𝜔1

=  150 

c)  Pdiss = Pdiss gen + Pdiss mult =
Pelèctr

ηgen

(1 − ηgen) +
Pelèctr

ηgen ηmult

(1 − ηmult) = 466,1 kW; 

     o bé: Pdiss = P1 − Pelèctr =  466,1 kW 
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Criteris de correcció Tecnologia Industrial 

OPCIÓ B 

 

Exercici 3 

a)  V = 2· [L3 L2 + 
1

2
(L3 + L4) (L1 − L2)  − π ( 

d

2
 )

2

] s = 37,02·10
-6 m3;   m = 𝜌 V  = 46,27 g 

b)  V = π r 2 L   ⟹   L = 
V

π r 2
 = 5,237 m 

c)  n = 
s

e
 = 75 capes 

 

 

Exercici 4 

a)  q = v sint = v π (
dint

2
)

2

 = 2,099 L/s 

     ηb = 
Ph

Pelèctr

   ⟹   Ph = Pelèctr ηb = 4505 W;   Ph = p q   ⇒    p = 
Ph

q
 = 2,146 MPa 

b)  Fch = mg = 11,47 kN;   Fch = p
int

 sint    ⇒    p
int

 = 
Fch

sint

 = 
Fch

π (
dint

2
)

2
 = 1,804 MPa   

c)  ηc = 
Pmec

Ph

 = 
Fch v

Ph

 = 0,8405;   Pdiss = Pelèctr − Pmec = 1514 W 
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